
Puissances de Dix (J)

37 ÷ 1 = 90 ÷ 1 =
37 ÷ 10 = 90 ÷ 10 =
37 ÷ 100 = 90 ÷ 100 =
37 ÷ = 90 ÷ =
37 ÷ = 90 ÷ =

19 ÷ 1 = 53 ÷ 1 =
19 ÷ 10 = 53 ÷ 10 =
19 ÷ 100 = 53 ÷ 100 =
19 ÷ = 53 ÷ =
19 ÷ = 53 ÷ =

57 ÷ 1 = 46 ÷ 1 =
57 ÷ 10 = 46 ÷ 10 =
57 ÷ 100 = 46 ÷ 100 =
57 ÷ = 46 ÷ =
57 ÷ = 46 ÷ =

71 ÷ 1 = 39 ÷ 1 =
71 ÷ 10 = 39 ÷ 10 =
71 ÷ 100 = 39 ÷ 100 =
71 ÷ = 39 ÷ =
71 ÷ = 39 ÷ =

24 ÷ 1 = ÷ 1 =
24 ÷ 10 = ÷ 10 =
24 ÷ 100 = ÷ 100 =
24 ÷ = ÷ =
24 ÷ = ÷ =

DÉFI
MathsLibres.com

1 000 1 000
10 000 10 000

1 000 1 000
10 000 10 000

1 000 1 000
10 000 10 000

1 000 1 000
10 000 10 000

1 040
1 040
1 040

1 000 1 040 1 000
10 000 1 040 10 000



Puissances de Dix (J) Solutions

37 ÷ 1 = 37 90 ÷ 1 = 90
37 ÷ 10 = 3,7 90 ÷ 10 = 9
37 ÷ 100 = 0,37 90 ÷ 100 = 0,9
37 ÷ = 0,037 90 ÷ = 0,09
37 ÷ = 0,0037 90 ÷ = 0,009

19 ÷ 1 = 19 53 ÷ 1 = 53
19 ÷ 10 = 1,9 53 ÷ 10 = 5,3
19 ÷ 100 = 0,19 53 ÷ 100 = 0,53
19 ÷ = 0,019 53 ÷ = 0,053
19 ÷ = 0,0019 53 ÷ = 0,0053

57 ÷ 1 = 57 46 ÷ 1 = 46
57 ÷ 10 = 5,7 46 ÷ 10 = 4,6
57 ÷ 100 = 0,57 46 ÷ 100 = 0,46
57 ÷ = 0,057 46 ÷ = 0,046
57 ÷ = 0,0057 46 ÷ = 0,0046

71 ÷ 1 = 71 39 ÷ 1 = 39
71 ÷ 10 = 7,1 39 ÷ 10 = 3,9
71 ÷ 100 = 0,71 39 ÷ 100 = 0,39
71 ÷ = 0,071 39 ÷ = 0,039
71 ÷ = 0,0071 39 ÷ = 0,0039

24 ÷ 1 = 24 ÷ 1 =
24 ÷ 10 = 2,4 ÷ 10 = 104
24 ÷ 100 = 0,24 ÷ 100 = 10,4
24 ÷ = 0,024 ÷ = 1,04
24 ÷ = 0,0024 ÷ = 0,104
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